EARAROBREBRT —5 XN—ZXBISH—F 202388158 (X) 10EIER4E

TSRk C26 BN
[xE%] 15 :400,000H  23%&:128,000H  3#&:64,000 M  43%&:48,000H 5 3&:40,000H
B RS RS R HE B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
= 4 | BUES 1:37.6 3-3-1-1 [ 39.5| — 1 45) | NEERIR (@5R)
1/8(8| D77 A=A D ) wia) | ) J7—2kEvay
RIAYYISyva B:OIF«—IAL (B) #a1—KL—vavEEI 7
ws P FTTR 2 -5-5-. - % (&R
5 15| 5 |EO/RTLRY Y6 E 1.(36%.8 5-5-5-4 | 39.0 3 (4_275) s
R h—EYIRIURY B:NYR—TSET 2H IS
N s 7 1° t 9 | REXT 1:38.9 8-8-5-5 [39.0| -— 5 502 | BRRE (ER)
317|7 J—=JLRRE7— i 54.0 (3/4) *2) E&Iﬁ‘) J P NEEHF
R:I4 I RD=LEY BieATUvRIVAL RIS
- - SHER . 44 = HAEH (&R
4011 |7¥VINTA4FD "7 1(13?2')0 a2 40 ¢ ?917) ElREE
RN—EYIv— B:varkkL—t /=Y Tr—1L
~ s 5 | BRERAHE 1:40.7 6-7-7-7 | 40.6| — 9 | 441 |NIFREBL &R
sy 2 TOXYUY 54.0 ®) ) |EINE
RUAYF =R B:UUHIIRA v R #\) #BI-RU—vavEEI7
® ° hEHEth : -2-1- - Bk (&R
6N 4| O—RURRT | 55T 1'2‘31)'4 N ) f(?) SO
RiFRF B:UIRRY—II Eltie]
. BIESRD : -9-9- - EHEX (&R
Slglg| TLAU—T w2 w5 | B s | 9 |3 T R
R Lhk—L §:75v0OR [FElEskes]
3 £ 9 | PHE5LE 1:41.9 6-6-8-8 | 41.5| — 8 479 | EAZ (&R
sl 6| T—EIL 77| 5.0 @ (3 |BEB—
R:F4—=FANA B:Tx—F14Hh5—X TS
=~ Pl : -1-3- - )1z (&R)
N ; BEEP A it 4 N 1.{163).2 1-1-3-6 | 45.2 2 (4:123) il 2o
RiRwSAVT B:5T14U FlEag e]
@ 11— —‘@BIEfI
10—7+— 3,4,8,1,5,(2,6),7,9
20—7F— 3.4,8,1,5,6,2,7.9
30—7— (4,8),3,1,(5,7),2,6,9
43— — 8,(1,4),5,7,3,2,6,9
0 ILRE
BB 8 140/ JA R 5-8 280M & 5-8 560M 3EE 5-7-8 710
B B 8 100M4 7-8 2504 =] 8-5 6804 3EE 8-5-7 1,680
5 1604 5-7 5304 5 & 5-8 5404
7 180 BB 8-5 540

ABIC OV TRUTEREERRODDZE. THRIIZEL.



